540

Environment and
Climate Change Canada

Water Survey

Environnement et
Changement Climatique Canada

Western Region
@ ( ) /@ Relevés Hydrologiques
! I\ 4 76 @18 TYP Région de I'ouest
) U1
TYp 3 ( — 6 ) 8 ———————%———————————
H B Y
4 J —1 O OO
g T B FOR BIDDING PURPOSES
— 26 [=-— — 26 [-—
SECTION A-A ASSEMBLY ALLOWS FOR ONE ASSEMBLY FOR
A-FRAME HSS OMITTED FOR CLARITY THE TWO DIFFERENT SIZES OF HSS [ ——————— 194 ——— = [a—— 100 —= f— 194 —————»=f
CONNECTION. ONLY DIFFERENCE IS THE @ Q)
LENGTH OF THE CLAMPING BOLTS.
ITEM #1 DETAIL
A-FRAME CONNECTION WELDED
A 540
| 76 —= ~
200 00 TR 06 -
@\ 158 @)\ 158 | —
\ RN
L L © b F © [0
i [ O (] [
| | , I I , )
e o Ok +
@\ @0 /@ X —{ 26 [=— —{ 26 |[=-—
AR IR I I I I e e e e e Ve Y AR
/@ -~ 1904—— = § la—100—» 194 ————»
A A
— n n
( ———— 0.16 kN-m (120 Ibf-ft) TYP \.—— ]
A H——H" " ITEM #2 DETAIL
L o LADDER CONNECTION ANGLE
@ il \ |_— 76 x 76 HSS A-FRAME
n
A 3 3 / 542
|_— 016 kN'm (120 Ibf ft) TYP 51—
| _\\ = N——" ol g @15 TYP
N———— 127 x 127 HSS A-FRAME = = x @18 TYP
I O\L 1 N T
N j — 29 <—95—>| b O
51 25 (-—
] ml (| ) L 1 | | —— |
I I
ITEM #3 DETAIL
= = . O @ = = 1 @ O LADDER CONNECTION ANGLE
542
@18 TYP
LADDER BRACKET HEAVY DUTY (HD) LADDER BRACKET LIGHT DUTY (LD) ENAL
COMPATIBLE WITH 127 x 127 HSS COMPATIBLE WITH 76 x 76 HSS ‘(’) O
Y l
T 1 )} 1
51 25 [-—
L P4 —=={ 29 |——95——|
51—
ITEM #4 DETAIL
LADDER CONNECTION ANGLE
HD LADDER BRACKET BILL OF MATERIALS LD LADDER BRACKET BILL OF MATERIALS
ITEM| QTY DESCRIPTION SIZE LENGTH| _MATERIAL | FINISH |DWG# ITEM|QTY DESCRIPTION SIZE LENGTH| MATERIAL | FINISH |DWG#
1 1 |A-FRAME WELDED ANGLE - 3" x 3" x 3/8" 540 CSA G40.21 350W |GALVANIZED A 1 1 |A-FRAME WELDED ANGLE - 3" x 3" x 3/8" 540 CSA G40.21 350W |GALVANIZED A
2 1 |A-FRAME BOLTED ANGLE - 3" x 3" x 3/8"{ 540 CSA G40.21 350W |GALVANIZED 2 1 |A-FRAME BOLTED ANGLE - 3" x 3" x 3/8" 540 CSA G40.21 350W |GALVANIZED
3 1 |LADDER MOUNT ANGLE LEFT ANGLE - 2" x 2" x 1/4" 542 CSA G40.21 350W |GALVANIZED 3 1 |LADDER MOUNT ANGLE LEFT ANGLE - 2" x 2" x 1/4" 542 CSA G40.21 350W |GALVANIZED
4 1 |LADDER MOUNT ANGLE RIGHT |ANGLE 1 2" x 2" x 1/4" 542 CSA G40.21 350W |GALVANIZED 4 1 |LADDER MOUNT ANGLE RIGHT |ANGLE - 2" x 2" x 1/4" 542 CSA G40.21 350W |GALVANIZED GENERAL NOTES
5 | 2 |HEXBOLT (58" £\ 1127 _|ASTM A325 GALVANIZED 5 | 2 |HEXBOLT 5/8" 112, IASTM A325 GALVANIZED 1. FABRICATE AND ERECT STRUCTURAL STEEL TO CAN/CSA S16 LIMIT STATES DESIGN OF STEEL STRUCTURES.
6 2 |HEX BOLT (5/8" { 7" |ASTM A325 GALVANIZED /A 6 2 |HEXBOLT 5/8" 6 5" |ASTM A325 GALVANIZED 6 2. WELDING TO CONFORM TO CSA W-59 BY FABRICATORS CERTIFIED BY CANADIAN WELDING BUREAU (CWB) TO
7 4 |HEX BOLT Q12" ) 1-1/2" |ASTM A325 GALVANIZED 7 | 4 [HEXBOLT 1/2" 1-1/2" |ASTM A325 GALVANIZED m*i;f&fIgffEEg‘E‘s%;ffg‘éVX)-%ﬁlgglrog1@&% Mo o T D WITH ELECTRODES AND FILLER
8 4 |HEXNUT G S ASTM A325 GALVANIZED 8 4 |HEX NUT 5/8" ASTM A325 GALVANIZED 3. ALL MATERIALS USED IN FABRICATION SHALL BE NEW, ACCOMPANIED BY MILL CERTIFICATES.
9 4 |LOCK WASHER 1/2" ASTM A325 GALVANIZED 9 4 |LOCK WASHER 1/2" ASTM A325 GALVANIZED & COMPLETE AGSEMBLIES SHALL BE HOT DIFPED GALVANIZED AS PER ASTM A123/A123M
10 4 |HEX NUT 1/2" A} ASTM A325 GALVANIZED 10 4 |HEX NUT 1/2" ASTM A325 GALVANIZED ' '
11 2 |FLAT BAR - SEE DETAIL "A" FB 1-1/2" x 1/4" 151 CSA G40.21 300W |GALVANIZED 11 2 |FLAT BAR - SEE DETAIL "A" FB 1-1/2" x 1/4" 151 CSA G40.21 300W |GALVANIZED
435
330
© e— 95— =—13 A PIPE 'A' FRAME LADDER BRACKET BILL OF MATERIALS
| 2 HOLES, 015 QTY DESCRIPTION SIZE LENGTH|  MATERIAL FINISH
C/W 2-1/2" @ x 1-1/2" BOLTS
f u| Q C/W NUTS AND LOCKWASHERS 1 PIPE 'A' FRAME LADDER BRACKET GSA G40.21 350W GALVANIZED
] T H 6 + d 2 DETAIL 'A' FB 1-1/2" X 1/4" 151 GSA G40.21 300W GALVANIZED
1 4 HEX BOLT 1/2" 1-1/2" ASTM A325 GALVANIZED
DRILL 11/16" HOLE FOR 5/8" BOLT ——_] FLATIRON g TG?@VIS : m — E 6 4 HEX NUT 1/2" ASTM A325 GALVANIZED
\\-\ PLATE SEH DETAIL 'A' 151 c;\ 4 LOCK WASHER 1/2" ASTM A325 GALVANIZED
le— 28 28— ~ 1 HEX BOLT 5/8" ASTM A325 GALVANIZED 0 ISSUED FOR CONSTRUCTION 2020-02-09
\) 1/4" x 1 1/2" FLATBAR 1 HEX NUT 5/8" ASTM A325 GALVANIZED Revision Description Date
1 LOCK WASHER 5/8" ASTM A325 GALVANIZED Project Projet
-«
(o))
i T @15 LADDER BRACKET DETAILS
]
°._.‘
1/4" PLATE —\\
DETAIL ‘A’ O
i Location Emplacement
ALUMINUM LADDER SECTION
é VARIOUS
N 6
la———236 236 —————
Designed by Congu par
472 ECCC
Drawn by Dessiné par
ECCC
FRONT ELEVATION SIDE ELEVATION
Approved by Approuvé par
- YAt ECCC
PIPE 'A' FRAME LADDER BRACKET & PIPE 'A' FRAME LADDER BRACKET & —
ECCC
Drawing title Titre du dessin

LADDER BRACKET DETAILS

Project no./No. du projet

DWG-01

Drawing no./No. du dessin

Revision no.

6



AutoCAD SHX Text
Description

AutoCAD SHX Text
Date

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
ECCC Project Manager

AutoCAD SHX Text
Designed by

AutoCAD SHX Text
Drawing title

AutoCAD SHX Text
Project

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Drawing no./No. du dessin

AutoCAD SHX Text
Revision no.

AutoCAD SHX Text
Project no./No. du projet

AutoCAD SHX Text
Approved by

AutoCAD SHX Text
Projet

AutoCAD SHX Text
Dessiné par

AutoCAD SHX Text
Administrateur de Projets ECCC

AutoCAD SHX Text
Conçu par

AutoCAD SHX Text
Titre du dessin

AutoCAD SHX Text
Approuvé par

AutoCAD SHX Text
Location

AutoCAD SHX Text
Emplacement


